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1
1. Find 2 of 16.

2. Emma has done some calculations.

Explain how you know the answer is wrong without working out the correct
answer.

éw%mm ﬂxo/\ﬁsoﬂa,ta/uuuowm
Le » then |. 1]

3. In a box of 12 eggs, 5 are cracked.

What fraction is cracked?

S
...................... b2 [1]
4. Work out.
3 N 4
%5 ( 7 5
Give your answer as a mixed nurqber.
o \S +28’\,x1 - &35

"a;&s | 8
% *‘o ................ [ AS..coee [3]

5. Find a fraction betw?en

&
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The probability that a ball taken from the bag at random is green is 1/3

6.Jemma has a bag containing 24 balls.

How many of the 24 balls are green?

PC@"éM) = 3 3"* S G o [2]

3
7. Circle the fraction that is not equivalent to —

xl n'sl (%3 Qﬂ-{-
) Y
3 & 36 335 3 12
— 16 24 32
3 I g .1 3

[1]

8. Complete the table.

Minutes Hours

N =

30

2
40 5%‘/3 40

\2S 21 - 60 +60 + 1S

- [2]
9. Write 180 g as a fraction of 3 kg g— 30608

Give your answer in its simplest form.

)80 - . &£ - 3
5(13 SO
3000 25 -
3 5 \\ 2 sé
10.Workout24><17 :,(T ?Eg 2
|5é> l{l 2

Give your answer as a mixed number in its simplest form. *—l
2\

Vix L2 _ \2.\ - Z[, o O - (3]
L 3 298 28 Y
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11. Write 0.037 as a fraction. 631 = 249
32 10O

16O 1]

12. There are only black pens and green pens in a box.

The ratio of the number of black pens in the box to the number of green pens in

the boxis 2 : 5 s G
S

A

What fraction of the pens are black? Z -

ol

——

.................. T

=20x2S = SO0
There are 25 oranges in each box. Tdaﬂ OTOJ\gls %
@o} Each boxes of oranges costs £7 Cpogk = 20x ;{[ N~NO

2
Sam sells < of the oranges he bought.

13. Sam buys 20 boxes of oranges.

He sells each of these oranges for 40p.
He then sells each of the remaining oranges at 3 oranges for 50p.
Did Sam make a profit or did Sam make a loss?

You must show working to justify your answer.

selly 200 SOO = 200 x 0-40 = £ 80
S

The test soo -200 = 300

) = £SO
60@1\8@0% =6 LOO# ©S ~ _

£130
Son mads o \oss CtL‘,O—k%O = EJO)

[5]
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14. (a) Wor&(out = + : ') )‘4

*o \Y, 1043 L 12
% ¥ DS e
[2]
(b) Work out 1E s 3
3 4
S + 3
S 4 20
ceeeerereeee @,
—% *-% [2]

15. ABCD is a square.

D
This diagram is drawn accurately.
What fraction of the square ABCD is shaded?

+_L+_L

4
2 & b bl
2.

32 .16 ¢ b el o 22
o, 6b6u  bu Gl &4

www.justmaths.co.uk Fractions (F) - Version 3 January 2016



QJustMaths

16. There are 25 boys and 32 girls in a club.
L = 2 Z -
50(—\25 S P of the boys and -50(325 = 1O

\ -

L0f22:=16 Iifthe girls walk to the club. = b

g 2 Ze)
The club leader picks at random a child from the children who walk to the €Tub.

Work out the probability that this child is a boy.

........ 26 A0
17. Here are five fractions. +2 3'& =k 120
: N " '
2 T10 112 (5]
4 8 G 40 48 | 24{ 480
1
One of these fractions is not equivalent to "
(a) Write down this fraction. ,_§.
..... 2l 1]
2 1
(b) Work qut = + —
Zu 7 14
(A S
w e Lk e, [2]
4 3
(c) Work out = + — 4 x O = 4O

s simpst oS, 1S

Give your answer in its simplest form.

18.

Living to 100 years old

1 in 3 babies born last year N
are expected to live 5
to 100 years old

720 000 babies were born last year.
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How many of these babies are expected to live to 100 years old?

'}30‘3 920,000 = 320000

19. There are 35 pens in a box. Q K
15 of the pens are green. 1S 20 & 35- S
The rest of the pens are red.

What fraction of the pens in the box are red?

20. 120 men and 80 women were asked if they drive to work.

1
Altogether " of the people said yes. m W +0t0-Q
1 oskad . 120 80 200
3 of the men said yes. ——
L o200
What fraction of the women said yes? % _Lop 120 ZLO
S

(tochon - 1© - L
30 8 .

21. In Scotland, squirrels are red or grey in the ratio red : grey =

What fraction of the squirrels in Scotland are red?

L - 1o Z
3°S 35 *
X110 )
22. There are 20 students.
Z-6 -3
12 are boys. 20 TS S

What fraction are boys? Circle your answer.

[1]

3 x

4
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2 5 1 -
23. Which of —or — is closer in valueto = ? < _7—9
5 8 2 L0

You must show your working.

z e S 25 6 scoseocto2l | Z
S__ ub ¥ 4O 4O 736 S
xg \-;'x s [3]
24. A drink is mixed in the ratio
L oC
lemonade : orange : cranberry =6 : 3 : 2 LI
What fraction is orange? 3
= —
Circle your answer. LI
[1]
3 2 5
8 11 11
25. Jody’s pay is £315 per week.
She works for 37 %
Work out her hourly rate of pay.
35+ 3313-S = £8u0
[2]
26. What is one quarter of 5 hours? Sx £EO = 300 300 + S =15 mng
Tick a box.
1 hour 15 minutes //
ASmio
115 minutes .
Y SSvuno
1 hour 25 minutes
125 minutes
[1]
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27. A ball is dropped from a height of 840 cm onto a floor.

O

A

840cm

*7 F 05 (52 5

. wmce BOON CC

After each bounce it rises to a height that is half of the distance it has just fallen.

’

After how many bounces will the ball fail to reach a height of 1m for the first time?

You must show all your working.

Sbowucszp

[3]

= 120

3 _ .
28. In a school, " of the pupils are girls. é _ 3%

[
There are 390 girls in the school. S 5
Calculate the total number of pupils in the school.
. S UL\'W'\"d.Q» = l30ﬂ5

&S50
(3]

29. Faizal has £4(:0/

1 2
He spends " of it on rent and P of it on food.

| J—-
What fraction does he have left? £100 - 80
Write your answer in its simplest terms. _2; = léO
6 el
oo = 260
ke = tLO
os oliochon 1LO | =3 4

|
Lm ‘boFractlon 20n 3 January 2016
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L PO = 209 pos shao k

1
30. One sheet of A3 card has area § m?2

The card has a mass of 160 g per m?

Work out the total mass of 25 sheets of A3 card

[4]

1
31. How many minutes are there in 3 2 hours?

3x &0 =180
4 1S
\TS \ q ................... minutes [1]
32. Here are four fractions. /
112 17 3 1 5 \®
2 24 24 4 24 12 2L
Write these fractions in order of size =2 X2
. <6
Start with the smallest fraction.
s L 12 \&
] Z L 24 2]
33. Work out g of 210 cm.
«L = u'z' _tt =
S 5 ‘68 ..................... cm [1]
34. Lethna worked out z + 1 = -\—_S_ = 3—-
5 2 1o O /e
She wrote:
2+ 1_ 2 N 1 _ 3
52710 10 10

3 .
The answer of To 'S wrong.

(a) Describe one mistake that Lethna made.

wP«Q/\ﬁnou.@

Sho MW the. nuumucdens

COVUMON
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1 1

Dave worked out 1= X 5= _é.l‘ l,‘; =.‘i§ = 8
2 3 Z 6 6

He wrote:

1 X5=5and = x =
2 3

N I

1
The answer of 5 P iSs wrong.

(b) Describe one mistake that Dave made.

tts Leldo b conuek mwmd umlel rottiow h)phoagy
Frochono . "

3

35. Work out < of 200
3 - Lo _é, = 120 [2]
S S

36. Here are two piles of the same type of paper.

Each sheet of paper is ﬁ cm thick.

The taller pile is 10 - cm high.

height of taller pile : height of shorter pile = 3 : 2

Work out the number of sheets of paper in the shorter pile.

IS0 2 = SCO SO0 R 2 = LOO

S [3]
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37. In a class, the number of girls as a fraction of the number of boys is " %S' .

a) Write down the number of boys as a fraction of the number of girls.

Loy L
Gits S [1]

b) There are 20 girls in the class. Work out the number of boys.
&68.&5 <L
— 2]
6LA.3 S 20
r—/ - -—L_:

oo K

~—~A
"

\ooés :_\é
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